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GENERAL STUDIES

Which of the following latitudes is a Great circle ?
& 808 TE* ) wzroT) (& V0T T DEYotrd ?

(1) 231/2°N (2) 231/2°S (3) 66°N (4) O0°N
Karewa soils are formed due to the deposition by

(1) Glaciers (2) Rivers (3) Waves (4) Winds
E0a $)B¥en 28 Grgue JFVOWWARR.

(1) éarddocrw  (2) e (3) 8o (4) Ddorew
Which of the following state has witnessed rapid urbanisation during 2001-2011 ?

(1) Kerala (2) Maharashtra (3) Gujarat (4) Karnataka
& 808 &R¢* 2001-2011 S0 Stforr DHLedEEem Dol ¥

(1) S8 (2) DSfoeRy (3) Hzo8& (4) Eomyo¥

The cheapest option for the long distance freight movement is known to be

(1) Roadways (2) Railways (3) Airways (4) Waterways
V&S | Froerud LHBD TIahEoS” vSg08 IHTO Sarer

(1) dhdroew (2 g8 argres  (3) IR Irgres (4) mewrgrw

Ground Station of Satellite data retrieval in India is located at

(1) Ahmedabad (2) Shadnagar (3) Dehradun (4) Sriharikota
S8 50S* &Dmirs e (Barod girde Soo &wW) (%0 7
(1) edmord (2) P&&86 B) BFFErS (4) |08

Number of towns in India as per 2011 Census is
2011 ey X (LS 80 PrESTF0S’ Hu DYy Lowg

(1) 5161 (2) 7935 (3) 4041 (4) 3799
Rainshadow areas of Western Ghats have
(1) Tropical wet & dry climate (2) Arid subtropical climate
(3) Humid subtropical climate (4) Tropical semi-arid steppe climate
DRYD Eode DY ?.’ag*auo‘.ﬁ (Froere B8R 28 -
(1) escds &G, %J‘é%. (2) &0 esadd 3533“, ‘r’sa‘.i)ar
(3) oy &d eadd Sar (4) b Ty, vy ?EJJED
The environmental movement which was against testing missiles on the land :
(1) Bishnoi movement (2) Silent valley movement
(3) Baliyapal movement (4) Posco movement
ghrer oD Shme DOED H8TLorr wdNS Lourghl,m Gigawo —
(1) 5353905' &Cﬁg‘éwo (2) JTo& avsé f:—sc.”:s‘é:o
(3) wém‘&gﬁés‘émo (4) 33“5"&_ &cﬁsfmo
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9. In Telangana State, families of farmers who have committed suicide are given
compensation of iF
(1) T 10lakhs (2) ¥ 5lakhs (3) T 15 lakhs (4) X 6lakhs

Buomred® ud)irdg TOHY) T DHEwoarIS VOFEon™ F0QWE o
(1) &r. 10080 (2) O S5ofw (3) &r. 158w (4) &r 6ofw

10. Out of the total labour force, the percentage of workers engaged in construction in
Telangana in 2014 was

8eomnd® 2014 &° o s°8)¥ Vopgs® Jo=es SofoS® ATV &0 ardr -
(1) 10% (2) 9% (3) 8% (4) 6%

11. ITIR stands for
(1) International Technology Investment Region
(2) Industrial Technology Investment Region
(3) Information Technology Based Industrial Region
(4) Information Technology Investment Region

0.8.0.98. (ITIR) e

(1) R0&TYRE Bsm e agyDos 822068

(2) =;o&Pyabd Bsmyee 51352033)05580&5 _

(3) a5‘€)3&?&5 Bsmed uprdd aod@oﬁgééoﬁ)‘s
(4) aS‘épb‘a‘é}S Bsmed adgSDod d2absS

12. A person registered under the MGNREGA is guaranteed
(1) 150 days of work (2) 125 days of work
(3) 175 days of work (4) 100 days of work

MGNREGA 808 wth S Ty D383 2R Gerenr W S ¥DyoshEod ?
(1) 150 & (2) 1258w (3) 175 8erew (4) 100 §'aen

13. The first Open University of India was established in
(1) Ahmedabad (2) Hyderabad (3) Allahabad (4) New Delhi

e 888%0S° A 8z BE Jigdarguabo I & Qoryd Tl ?
(1) oimowrd (2 Pdoerd  (3) ewdrd (4) &rg@d

14. As per 2011 Census density of population in Telangana State
- d 4 o
20115 2er SY) o (D5°80 S0 U7y 2odro (e
(1) 306 2} 350 (3) 382 (4) 390

15. Hyderabad Tenancy and Agricultural Land Act was enacted in the year
o e, Dgdrdd Sdo Dabads vodéydo

(1) 1948 (2) 1950 (3) 1956 (4) 1975
Series-A 4 600




16.

Which district has the highest ST population share in its total population ?

(1) Khammam (2) Adilabad (3) Nalgonda (4) Warangal
o 2o 2oy’ A0 2T Y A DT GV) S |
(1) w0 (2) oderers  (3) dSTod (8) HSoKS
17. Major source of irrigation for agriculture in the Telangana State :
(1) Canals (2) Tanks
(3) Wells (4) Water-Harvesting Pits
Beom ToRY0S” DEHIAHBOMIE WHIEIW (DEve A8 Bdhes
(1) sreodes (2) IJDOYes
3) 2w (8) D¢ 0% Hoden
18. In Telangana, Agriculture sector contributed to GSDP at current prices for the year
2014-15
Buomnd® B8 $u (K580 2014-15 ro oy G833 (GSDP) & Heddrabdoiio
aedre
(1) 17.5% (2) 25.0% (3) 57.1% (4) 70.0%
19. |Industrial growth rate of Telangana during the year 2014-15 :
(1) 3.1 percent (2) 4.1 percent (3) 5.1 percent (4) 6.1 percent
2014-15 0oHE oSk Buonren 0TV s DH)D S&
(1) 3.1aé0 (2) 4.1=&o (3) 5.1=~&o (4) 6.17&0
20. Who won the Gold Medal for Weight Lifting in the women section in Common Wealth
Championship, 2015 held in Pune ?
(1) Thuram Priyadarshini (2) Indira Priyadarshini
(3)  Karnam Malleswari (4) Kandukuri Rameshwari
2015 &° YRS 2000 PR ToPABSNSS’ DIrde Iand OPoh Jerfod® 1Y
WEZ0 ROV B ? : -
(1) SHED (a8 (2) =080° RABESEID
(3) ¥8mo ‘u’mé)r“asa . (4) ¥ocb&rd orDigd
21. As per 2011 Census lowest literacy rate district in Telangana State :
(1) Medak (2) Mahaboobnagar
(3) Adilabad (4) Khammam
8eorrn ooEYod” 2011H Ty TH L (D5 80 B8NS viogd Ku 2y
(1) D38 (2) HdrarSoKd
(3) wdorerd (4) :.u‘én&o
22. Planning Commission was set-up in the year
(e 9E Dozpo (DBodo S Vond o
(1) 1947 (2) 1948 (3) 1950 (4) 1951
600 5 Series-A
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23. The objective of “Inclusive growth” is emphasized in which plan ?
(1) Eighth plan (2) Ninth plan
(3) Tenth plan (4) Eleventh plan
DM PE D)0 oFg FE0D 2 (R @S (Drorvgd aT)® ?
(1) dADED (e E (2) é'a"&bgc‘.’;é (e 0¥
(3) VED [RerPE (4) VEE0UD (W PE
24. Who among the following, described the revolt of 1857 as the first war of Indian
Independence ?
(1) Ashok Mehta (2) V.D.Savarkar
(3) S.N.Sen ' (4) R.C.Majumdar .
&1 800 &0S* 5D 1857 DhHiher v (DFE g Ed Jgdo|Eg Whdom WETD ?
(1) %5 s (2) D& FHHE
(3) NI S (4) 8.2, Dheroard
25. The chauri-chaura incident took place in the year
TO - Toe VOPWLR @ VoSSV’ 20n0d ?
(1) 1920 (2) 1922 (3) 1925 (4) 1930
26. Who was known as the “Frontier Gandhi” ?
(1) M.A.lJinnah (2) Khan Abdul Gaffar Khan
(3) Abul Kalam Azad (4)  Mohammad Ali
VOLPE o’ M HLDVERD 0 ?
(1) o.a. 2&%) (2) S wend figrd s
(3) owd Sero vard (4) & od
27. The third Anglo-Maratha war ended in the year
frdS solf -ores Ao Q DoDEYoS® Twhed ?
(1) 1792 (2) 1798 (3) 1805 (4) 1818
28. Who championed the cause of Dalit communities in Travancore State ?
(1) Ayyankali (2) Kelappun (3) Sahadevan (4) Ayyappan
|&°S08°6 oragod” 98 DRty ‘bé:‘bgé)lawrﬁé’s?, S80)0d 5 ?
(1) eabgosd (2) Sedye (3) VLTS (4)  ©abgbyS
29. Who propounded the theory of “Drain of Wealth” ?
(1) Dadabhai Naoroji (2) Mahatma Gandhi
(3) M.G. Ranade (4) B.G.Tilak
Vo D0’ vgroerd) Jolh (RBIrR0TH ?
(1) ororeray 6% (2) Doy mod
(3) oo.2. & (4) D2 88
Series-A 6 600




30.

31.

32.

33.

34.

35.
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Identify the first Indian Native Ruler who accepted the Subsidiary Alliance System
introduced by Lord Wellesley :

(1) Hyder Ali (2) Ranjit Singh

(3) Nizam Ali Khan (4) Nawab of Bhopal

e:‘*g ngg pﬁﬂ‘gfa :.\_);’35 arSstY ‘é)céab & erdaad Q‘:}é FoHH Idb
wofi$00wr8* H8oB0d :

(1) &85 od 2) Boz&oh  (3) ewro wdarsS (4) DS doeww

The Soldier who revolted against the British at Barrackpore in 1857 and became a Martyr :
(1) Cheeda Khan (2) KunwarSingh (3) MangalPande (4) BahadurShah

1857 &° e 85,6 (D8R 508 ésaason* 8%ty T SDHIS WD JH ?

(1) Dorwrs (2) ¥%guoh (3) HoXSrod (4) wirdrda
Who among the following took part in the Quit India Movement ?

(1) Motilal Nehru (2) Dadabhai Naoroji

(3) M.G. Ranade (4) Aruna Asaf Ali

& 800 a0&"° 8¢5 wodadr &égb:oé" FSTHO I ?

(1) S d JEr (2) ororgron 362

(3) o.2. 853 (4) e ol ed

Which political party gave the slogan “One-Vote-Two-States” in the context of Telangana
Statehood ?

(1) Congress Party (2) Communist Party of India

(3) Bharatiya Janata Party (4) Telangana Rashtra Samiti

S8woms 07y oD VowodoD ‘¥ L&y Toi orFw’ ©3 o RS

orzdad o‘}’g 28 ?

(1) s*o[AS (2) 288 Shwgdin 8
(3) rd8ab zder > : (4) Sworrm ovgy VS
In Telangana ‘Budubunga’ is
(1) atree (2) abird (3) atype of pot (4) afruit
oo (Frosod® ‘ankhenod’ 8 HAV wodrd.
(1) =%3% (2) =828 (3) 2% 35S Hodk (4) 28 Vo
Hitabodini Newspaper was edited by
(1) B. Srinivasa Sharma . (2) Devulapalli Ramanuja Rao
(3) Dasarathi Rangacharya (4) Madapati Hanmantha Rao
rS5°R Togr DB VordHih
(1) B B0 583 (2) TP Tirdero Y
(3) %868 orm:wdagw (4) Srdard év‘{ogoém@
7 Series-A




36. Secunderabad was named after whom ?
(1) Secunder Pasha (2) Secunder Bakht (3) Secunder Jha (4) *§&cunder Lodhi
5

JH0 DS VEo(Erers F8HE0D ? by
(1) 2806 > (2) Bos6E  (3) BoSE s (4) 86 &

37. Identify the commander-in-chief who led the Nizam’s Army during the Operation Polo :

(1) Laig Al (2) Kasim Razvi
(3) S.A. Eldruss (4) MehdiYarJung
LTS FS® VwaboS” Jaro PRg VIV SELHE gl r
(1) oo%rE b (2) sBoseg #
(3) M. &R (4) Derdaprbezoh
38. The Mozam Jahi Market in Hyderabad was named after
(1) the second son of Osman Ali Khan (2) the first son of Osman Ali Khan
(3) the brother of Osman Ali Khan (4) the grandson of Mehabub Ali Khan
wrdorers & veoerdr Do) 6% JN0 W DYEs ?
(1) :fséfngS ©darS Bodd Hhrdd (2) &325 0O S S Hardd
(3) &31&5 S SKHH (4) DIrerd wdprsS Dk
39. The Hali Sicca was introduced by
(1) Quli Qutub Shah (2) SalarJung!
(3) Mir Alam (4) Bahadur Yar Jung
O - D5 (PSG0d
(1) %OH&H5 (2) &S Jerbzoh
(3) D6 vou ' (4) 2&r&rE afbzof
40. During the 1857 revolt in Hyderabad Turrebaz Khan was shot dead at
(1) Medak (2) Shamirpet (3) Toopran (4) Bhongir
S0 EST 1857 8%iHery steoe’ @SS I & 57y Sord ?
(1) SE (2) arabad (3) &r@»S (4) 2badAB
41. Khilashapuram in Warangal district was associated with
(1) Padmanayakas (2) Sarvai Papanna
(3) Akkanna-Madanna (4) Gona Budda Reddy
Dol 2 &R Porarydo JHOE Lowodo EOA ¢B ?
(1) ?bd&a“ciﬁé)w (2) worgaw 3"}{)‘.'01
(3) ©¥R), arddy (4) ﬁ"{aa.mg‘ac:?
42. Prataparudra-Yashobushanam was written by
(1) Vidyanatha (2) Ketana (3) Potana (4) Thikkana
[REr|d abFabrlno SWowod - :
(1)  Dorgored (2) B&% (3) S (4) 8HD
Series-A 8 600
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45.

47.

48.
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The sequence of eating and being eaten in an ecosystem is called as

(1) Ecological Niche (2) Food chain

(3) Food level (4) Tropic structure

b ‘é:gb‘éa@‘ Db, Bdwdd oI (B Eabo dotrd ?

(1) ‘.‘bc*s‘éémdré: (2) 6 S Eo

(3) wSEFow (4) Ogr Qo290

Who proposed the term ecosystem ?

(1) Rieter (2) Odum (3) Earnest Haekel (4) Tansely
Domghde ‘égb:g‘ (ecosystem) &9 Vo) 5t HBIB0TE ?

(1) B&6 (2) &do (3) MOy eSS (4) &S

"Name of the Indian Research Station at Antarctica :

(1) Haridwar J (2) Dakshin Gangotri

(3) Aboa _ (4) Mendel Polar Station
©0&r0) 85 e LOFET SoKo W

(1) r0argb (2) &8 HofF|S

(3) oS (4) Dodd Ferb VNS

When was Biodiversity Act enacted in India ?

(1) 1* October, 2003 (2) 1% March, 1999
(3) 3" November, 1980 (4) 3™ April, 1972
e 888508 E5IDg Br)  VodE oSt Tadh ?

(1) o§%6 1,2003 (2) %03 1,1999
(3) ®Hox6 3,1980 (4) QDS 3,1972

The process of converting a gas into liquid is known as

(1) Melting (2) Condensation
(3) Freezing (4) Vaporization
08 TPOPYR (SHEDOM W0 (D|EIHR D0 ?
(1) | Sdeddo (2) oghemo
(3)  dadefddo (4)  gripasddo
India’s First dedicated Multi Wavelength Space Observatory launched by ISRO is
(1) ASTROSAT (2) SPACESAT (3) CASMOSAT (4) CARTOSAT
ISRO (D@0 DS odasde wd SSTof w0 ww)Tzwd
(1) oF9zs ) RE 3) sHTE () sG=E
9 Series-A
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50.

Which of the following country is recognized as one of the mega diversity centres ?

(1) Thailand (2) India (3) Bangladesh (4) Pakistan
&1 808 °S* DBV So(o (Mega Diversity Centre) > (0 0Swdh B8 ?
(1) orobero& (2) e2r883%0 (3) womd’ (4) 8>S

In a Human body, the size of the
(1)  Right lung is larger than the Left lung
(2) Right lung is smaller than the Left lung
(3) Right lung is equal to the Left lung
(4) Lungs changes & no fixed size
ArRS 3080 08w VOErR0 St 808 Ao &otwod ?

(1) %6 &da8 Qd’é)@i)gau";:%s&m Gotnod.

(2) 3G &0088 o)éém‘béal W8 & okwod.

(3) ®a, Ao e300 Bhen VTR0 &0l Q.

(4) G008 HODP0 Drdhdr G otwod, LoErsmo .3;60:‘}" & O&.

51. In water solution, a base substance will release
(1) HYion (2) OH ion (3) Oxygen (4) Hydrogen
S 85w, ABS* E0AR Y &8 800 wgo Seodhhod :
(1) H'eadre =~ (2) OH worS 3) w@8yz3(0,) (4) &=
52. The term ‘RATOONING’ is associated with the following crop :
(1) Wheat (2) Sugar-cane (3) Cotton (4) Tobacco
‘Geardoh’ o9& VS0 $ 808 Dob®H HooBoD0B.
(1) Ao (2) 18D 3) 28 4) >
53. Which one of the following is India’s Supersonic Cruise Missile ?
(1) Agni-2 (2) Brahmos (3) Nag (4) Trishul
& 808 TEE* B BB WG JVE Frows DS ?
(1) ef)-2 (2) La:z:aas (3) ~Af (4) (%S
54. Where is Integrated Test Range (ITR) facility of DRDO (Defence Research and
Development Organization) is located ?
(1) Hyderabad (2) Pune (3) Dehradun (4) Balasore
DRDO & 10220800% 208@ABE BY o2t (ITR) & X8 ?
(1) Soard (2) 2rsd (3) GESsErS (4) ewrerrd
Series-A 10 600
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59.

60.
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Chakali Aitamma fought against the Landlord of

(1) Palakurthi (2) Kadivendi (3) Visnur (4) Jangaon
50 o) O AP Biber Bod ?
(1) red (2) ¥&30é (3) v (4) =doro

For which novel Ampa Shayya Naveen got ‘Kendra Sahitya Academy’ award ?
(1) KalaMegham (2) Telanganam (3) AmpaShayya (4) Kala Rekhalu

wofabg DS TR0 @) BHu So Firdy w5t ward vdoDod ?

(1) s oo (2) 8eorrwmo (3) wodbadg (4) s eOme
‘Maneru’ river is a tributary of

(1) Godavari (2) Krishna (3) Penganga (4) Manjeera
“Ar3d’ 308 &858 ?

(1) &/ordd 2) & (3) wIHoK (&) Sodoe

The Devadasi/Jogini system prevalent in Telangana would be violative of which of the

fundamental rights ?

(1) Right to Equality (2) Right against Exploitation

(3) Right to Freedom of Religion (4) Right to Life and Personal Liberty
8o (oo’ &k Board Tor A BghY & 308 (FEDE S o® T
& e 0avod ?

(1) Ddrdden) Sy (2) DS EGE ¥y,

(3) & JgsoSgay ¥y (4) 2o, g8 foszﬁ‘) gy
Identify the Law Professor who was a member of the Sri Krishna Committee :

(1)  Prof. Vikram Singh (2) Prof. Ranabir Singh

(3) Prof. V.K. Duggal (4) Prof. K. Nageshwar Rao

(BE)% EDSST Labgamr &Q) argabely (0O oy

(1) (@906 JBodoh (2) (@0 EdBoh

(3) (W06 DB DS (4) (@06 8. 8o

Which town was the district head-quarter prior to formation of Mahaboobnagar district ?
(1) Gadwal (2) Wanaparthy (3) Nagarkurnool (4) Narayanpet
Dlrardonb 2o 28 EE Wwoh O Yewo Ly Sodor &odd ?

(1) HKagd (2) H&0Y (3) =HGEEIMes (4) Srordbmad

The total number of tanks/lakes proposed to desilted under the scheme of ‘Mission
Kakatiya’ of Telangana Government :

Svorrn (REbdgo REBoDN ‘DS 5°E8aY’ Do fod ) TP Pras
Safred VoEOyowrdh ?
(1) 9300 _ (2) 8212 (3) 46500 (4) 54000
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62. The novel written by Dasharathi Rangacharya with the backdrop of Tel'aH_gana Peasants
Armed Struggle : ;
(1) Gangu (2) Prajala Manishi (3) Cheekati Rojulu (4) Jana Padam
Seorrm Jahe Jerol Ford REgos® aoBLH Sormrordg SO Whe ?
(1) o (2) (o DA (3) DESEeren (4) 225080
63. Who is the author of famous song “Jaya Jayahe Telangana” ?
(1) Goreti Venkanna (2) Gaddar (3) Guda Anjaiah (4) Ande Sri
‘abzab e Boormrn’ o (Dergd Tabed) ols ¥
(1) #0808y (2) HSE (3) - womaby (4) wod (B
64. The famous sand Artist from India :
(1) Sunder Patnaik (2)  Sudheer Raghavan
(3) Sudharshan Patnaik (4) Sadasiv Dube
P ESTE [Lergd NES Svrsethd
(1) o6 Dimyabs (2) 86 oiwdS
(3) WSS DeryabE (4) VoS &rd
65. Who among the following, the Indian Constitution recognizes as a minority ?
(1) Linguistic (2) Gender based
(3) Regional based (4) Forest based
88 orergoifo 808 S0SF JHO e ogrgs Do HYoDod ?
(1) grarddad (2)  OoKLEIH (3) (rodddomr (4) weILSom
66. National Commission for Women was established in the year
2 80H DIy EDNSH QT DO VonEo
(1) 1992 (2) 1993 (3) 1991 (4) 1996
67. Whose Ph.D thesis was entitled “The Problem of the Rupee : Its origin and its solution” ?
(1)  Dr. Manmohan Singh (2) Dr. C. Rangarajan
(3) Dr. Montek Singh Ahluwalia (4) Dr. B.R. Ambedkar
‘B (YD 6P & af) o023 908 al) FwrghS o LHE b V5.8 vgrod
g TR 7
(1) @0 DIDIPSVoh (2) @E6R. Sorforas
(3) &6 droBEVOA e dalr (4) @86 B.eb. w06
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68.

69.

70.

71.

72.

600

Which country has awarded ‘Order de la Democracia Simon Bolivar’ to Indian spiritualist
Sri Ravi Shankar Guruji, for helping to restore peace in their country ?

(1) Bolivia (2) Colombia

(3) Paraguay (4) Cyprus

& 4o’ wodrredine IS ¥ DBvodd i uerg B 838

5 $0¥8 Higrle 'wgb & o BBV YRS TOHE’ ST (VTR0 S -Yat o)

(1) S°OdHe (2) Feodabe

(3) Dorig @) P

In which place the first Indian Defence Industrial Park is proposed ?

(1) Kerala (2) Goa

(3) Madhya Pradesh (4) West Bengal

W ESB50S° LIS S FO[TDE P K& Juyen TabS D ?
(1) B¢ 2) &

(3) “é»C,SSEIJEﬁE (4) DRy Borrd

According to the recent report of National Crime Records Bureau (NCRB), what is the
National suicides rate for one lakh population in India in 2014 ?

SUSE B9 0578 wgS‘ (NCRB) B & (@580 2014 €* BH0c® (08 vf wodS* dod
208 PrEdabes ué&&rézgoé) e ?
(1) 106 (2) 10.2 (3) 9.8 (4) 95

As per Tourism Ministry, Govt. of India, which State was attracted more National and
International tourists in the year 2014 ?

(1) Telangana (2) Kerala

(3) Andhra Pradesh (4)  Tamil Nadu

88 VoL Lo@EgEw (DSG0 2014 &° D Do SR - DBV DogLHLW
caégo{)‘éu m‘é@o

(1) - 8wonrem (2) S& (3) woBER (4) ST

‘Prime Minister’s Kaushal Vikas Yojana’ is meant for

(1) To provide employment for youths

(2) To provide pensions for unemployed youth

(3) To encourage skill development for youth

(4) To provide financial support for entrepreneurs young

[PETR 0|8 BHS DsTO Ared’ B8 ﬁ-@""a’o 2od ?
(1) cfodes® &5‘5?5 SIS

(2) Qé:&‘s(boé: VI wosEabEo

(3) cfvbess® SYeagd WodroBobEabdo

(4) ofvd o FwE D ©0% Labo wododdo.
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73.

74.

75,

76.

77.

Name the French company that supported ‘Make in India’ : I g

(1)  Airbus (2) Airjet
(3) Airmate (4) Jlambojet

‘D5 a8 q0das’ & DEHIDNS (305 o 26 ?

(1) QowdR (2) QoS

(3) Qo6DS (4) zmod'BS

Name of the painting that Narendra Modi has given as a gift to France President,
Francois Holland : ;

(1) Jeevana Jyothi (2) Jeevana Vruksham

(3) Grama Jyothi (4) Bharatha Jyothi

(") 8SgHd (oSl FPer ot H STo(BFrE wrEBo DS BavoBoh
(1) 5% &ga (2) 2S5 Hy¥0

(3) (& é‘sa (4) o8 éseg@

The Chemico Corp. of which country recently India entered an agréement to import
3,220 Metric tonnes of Uranium ?

(1) Australia (2) Canada

(3) Germany (4) France

adbe o B8 Bodd SDE’ 5°8%) Vopd’ erEEdio 3,220 HSE wine cdAabo
BHDS §%00 adyodo HiHHyHod ?

(1) edab (2) She

(3) @8 4) @&

As a part of tour to which cduntry Narendra Modi inaugurated International Yoga Day
website ?

(1) - Canada (2) Germany

(3) America (4) France

2 8% VIORS* erforr Fré wodgrdoh G B Sy IFED (FSodoD ?
(1) Sdar (2) aa&gﬁ

(3) oDos® 4) |

Indian origin American, who is appointed as American Ambassador to Sri Lanka and
Maldives :

(1) Richard Verma (2) Atul Kashyap
(3) Bobby lindal (4) Chivkula Upendra
|08, SOPUH oS oraberOm QObDHTS rEE VoLBE Tosd wIr0ES
‘ib?gé Tl ?
(1) Eﬁz‘.’ag éd@_ (2) &9:‘&:551%55
(3) =rd oo (4 DPBe sDo
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78.

79.

80.

81.

82.

83.

According to the National Geographic Travel Magazine the rank given to Hyderabad
among the Best of the World 20 places you should see in 2015 :

(1) Two (2) Four (3) Six (4) Twelve
SRS e (DS (&° 3T SrghiBS (0580 2015 & WrdSK 20 sk Do difores
8o dd Q.S‘lgv‘bo vDonod ?

(1) Tok (2) ereald (3) e (4) éﬁlod:
Name the pension scheme launched by the Telangana Government.

(1) Bharosa (2) Aasara (3) . Roshini (4) Sahaya
8eomm (D2d8c0 (DFoDoDH WHS V%o 1 ?

(1) &> (2) edo (3) &% (4) Ldtad

Name the Foundation started by Nana Patekar to help the families of suicide farmers in
the Vidarbha region :

(1) Satnam Foundation (2) NAP Foundation

(3) NAM Foundation (4) Nana Foundation

S)CSCSQ (rodos® e drde Sinéxbl Séb Hevoered Vtabo Jadarls s HBEE
Q‘&O% ;’oo;é; 25 ? .
(1) Do FoBAS (2) D FodBAS  (3) D PoBLS  (4) o FodaS

The winner of Nobel Prize in Literature in 2015, Svetlana Alexievich belongs to which
country ?
(1) Russia (2) Tunisia (3) Czechoslovakia (4) Belarus

2015 &° g0’ $BS Wi Tl girar ¢SS J I8 Josd
SSan(@ ?
(1) g (2)  torgdate (3) BEFar8abr (4) BersS

Who was the first writer to return the Honour given by the Sahitya Akademi protesting
against rising intolerance in the country in 2015 ?

(1) Nayanatara Sahgal (2) Waryam Sandhu

(3) Ajmer Singh Aulakh (4) Sarah Joseph

2015 &° DONDIED) D VT8 VM g ©SoED T EHw I8, alyd

B AT ‘&>§§ T ?

(1) Nabsed varie (2) a8go Vo
(3) tsa”aﬁ?aoﬁ wers (4) o =
Komaravelli Mallanna Temple is located in the district of
(1) Medak (2) Karimnagar (3) Ranga Reddy (4) Warangal
SEIY DY) daorecho O 2o’ ¢od ?
(1) DSS (2) €606 (3) Yorroa (4) SBonid
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84. The Director of Telugu Film “Nimajjanam” which won the Best Telugu'Film National
Award in 1979 hailed from Karimnagar District. What is his name ?

(1) M. Prabhakar Reddy (2) B.S.Narayana

(3) Tyagaraju (4) Narsinga Rao

1979 & Beoth =80 SEL VAT JOVTO ‘Vvgwo' SEHHd E00NNE 2D
DoBE . wadd D ?

(1) o. (D56 3G (2) 8.0, vrocabes

(3) a‘gdmw (4) WByotioTy

85. How many spokes are there in the Ashok Chakra of the National Flag ?
2 30% Boa S ©FE oS’ ) higesTyon ?
(1) 24 (2) 34 (3) 26 (4) 36

86. Who organizes World Twenty-20 ?

(1) BCCl 12y - HeEl (3) ICC (4) CIC
(200 éasoe.i -20 % DB QBT ?
1 B (2) R.0.2.0. (3) .22 (4) ...

87. The popular Dance form during the Kakatiya period was

(1) Chindu (2) Yakshaganam
(3) Perini Shivatandavam (4) Kakatikeli
s*¥aahe steod (Rargd Dydgo

1) Wod (2) obEnco

(3) O3 Fderokdo (4) s°$859

88. Who composed Music to the recent Telugu Movie Rudramadevi ?

(1) A.R.Rahman (2) Keeravani

(3) S.S.Taman (4) llayaraja

& Wiigseod® VST Beoth WD HEHEDSE Vohien) ot VRErEYTD ?
(1) 38, Sodrs 2) &&=

(3) .. S (4) agaborar

89. The famous Telugu Film Lyricist Chandra Bose belongs to which district ?

(1) Krishna (2) Prakasam (3) Warangal (4) Karimnagar
[Largs Beotd 2IA0H SBIawd BB & Berd Doddard ?
(1) S (2) (ds%o (3) HFord (4) 806oniiG
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90.

g1.

92.

83,

In Telangana villages Ganagalam is used for which purpose ?

(1) Cooking Food (2) Storage of water

(3) Storage of Grain (4) Measuring Grain
Beormis VBS* Kormreo A8 GharA S ?

(1) $oo Jadas (2) %) deg soWaeDE
(3) ©Rgo Jdeg GoBEI8 (4) @ Rgo Beba0s

Which of the following is an instrument used by the carpenters ?

(1) Hammer (2) Sword
(3) Badisha (4) Karru
&1 808 o°0¢° Higon GHARNOT VAW DB ?

(1) %8 (2) 3
(3) wrd% (4) E®

ICRA ranked Telangana State as A+ for the following reason :

(1) Telangana is a newly formed State

(2) Prompt Repayment of Loans

(3) Telangana has very good State’s own tax revenue

(4) Telangana has very large Land Bank

&1 808 5*8m0 Dy ICRA 8vonre mg-jag A+ S 50;)000@ :
(1) Beorrs SEm J83E o*‘éljosve.}ég.

2) odyud V5wt 30D Dy.

(3) Beorre w‘ézjoé‘ Ebgoé ‘b‘:’mlo sorodo Qé:z‘,'o‘an‘ Goddo.
(4) 8eomrnd® 02 gfrergol KO Yoddo.

The other name of the earthquake occurred in Nepal in April 2015 :

(1) Himalaya Earthquake (2) Gurkha Earthquake
(3) Smiling Buddha (4) Terai Earthquake
(25 2015 &* ISE® LoLAoWS WrEorI8 WE'E 1D

(1) Sread eir¥ono (2) Krg‘ fr¥ono

(3) féﬂéoﬁ a.ncg (4) 8orab ghe¥odo
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94,

95.

96.

97.

98.

99,

100.
101.
102.

103.
104,

105.

106.

107.

108.

Today, | have to appear for interview at a software company in Hyderabad.
(1) an (2) the (3) a (4) are
While travelling yesterday, | met famous actor on the plane.
(1) an (2) the (3) a (4) are
accident during the rush hour can hold up the traffic for hours together.
(1) An (2) The - (3) A (4) Are
This factory some of the best watches in the world.
(1) manufactures (2) is being manufact_l.l_r,ed
(3) manufactured (4) manufacturing
Many : believe that global warming is affecting our climate.
(1) scientist (2) scientists (3) science (4) person
A little has been done in this area.
(1) researcher (2) researches (3) research (4) researched
The new drug prevents the fungus spreading all over the skin.
(1) on (2) from (3) in (4) over
Do you have any knowledge how our government works ?
(1) about . (2) of (3) for (4) if
He was very anxious the outcome of the interview.
(1)~ of (2) about (3) for (4) if
Most engineering students choose to in their own accommodation by the time
they reach their final year.
(1) lives (2) live (3) are living (4) lived
From this graph, we can see that the pollution levels in our city at the moment.
(1) increased (2) increasing
(3) areincreasing (4) will be increasing
If the current trend continues, the average income by 50 percent.
(1)  will increase (2) increase (3) increasing (4) increased
Some of the applicants to face a Group Discussion round before being short
listed.
(1) have (2) has (3) will (4) am
The Mess Committee meetings and discussions before deciding the menu in
the hostel.
(1) conducting (2) conducts
(3) has conducting (4) will conducting
Today, the children - late for their school.
(1) was {2} is (3) were (4) am
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109. Directions’ i’ In the question given below, there is a statement followed by two
assumptions :numbered (1) and (I1). An assumption is something supposed or taken for
granted. You have to consider the statement and the given assumptions and decide

which of ther';sbsumption(s) is/are implicit in the statement.

Statement : .(.:adaver organ donations on the rise in Telangana - A news report.
Assumption | : Cadaver organ transplant operations are not successful in other states.
Assumption 1’2 People of Telangana have realised the importance of organ donation.

(1)  If only assumption (1) is implicit.

(2)  If only assumption (I1) is implicit.

(3)  If neither (1) nor (ll) is implicit.

(4) If both (1) _and (1) are implicit.

Srdter 1 & (DHST ¥ (DEGS (Statement) O Todk ‘2rdoDd womrey’
(Assumptions) FDgwEraw. 28 WELD VAPGEAE GDHI HHGDSET Jereor eroDD

S0Ted ‘rJodd woFresm’ VEYRHD). rAoDd woe egrdorrs RS
Jabdo 2Bhh®0d. Al LEGS DO rods vorud LBRDOD [LES
D@8 2 ©oFo Sor woTew P oBgradr H0oB0a.

(REGS : EERoEE wdabdEho Beomnd® VHIHE S - 28 srge Edo.

FPR0W0 w00 — | @ DYwroddo LEBoVD whadared I L2 ) (H8ad
Difee o9’ Juahhodo SED.

PrR0WN oo — Il : D¥erhodd wdhabdordo ¥y, @‘é‘bmbl BCOMme [.baau eago
3"@5)&163.

(1) 2rdoDS woto - 1 Er@D

(2) 20D woFo - Il arED

(3) 2rdoWN ®o%o -1 O Il 57D

(4) Q0TS wodo -1 o I
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110. Directions : In the question given below there is a statement followed by two

conclusions numbered (1) and (I1). You have to assume everything in the statement to be

true, and then decide which of the two given conclusions logically follow(s) beyond
reasonable doubt, from the information given in the statement.
Statement : The food-grain production in India during 2014-15 is 252.68 million tonnes
(MT) as compared to 265.04 MT during 2013-14.
Conclusion 1 : This is the first time the production of food-grain has fallen when
compared to previous year.
Conclusion Il : The government has not provided adequate loans to farmers.
(1) If only conclusion (1) follows.
(2) If only conclusion (Il) follows.
(3) If neither (1) nor (Il) follows.

(4) If both (1) and (I1) follow.
ardben 1 & @J%l:?‘ 28 (DEWS (Statement) DOA Tod Jgabres (Conclusions)

RGO, FRWYE (DELTD Y8 o gAY o APdbres REGD verdorm Do
G agorr Dabdes’ HooWod.
B85 : r8ETHoS” eiflorarge 6833 201415 LodESoS® 252.68 OGBS

Lyeor, 2013-14 &° 265.04 DOWDS Glyeor™ G od.
QPabo — 1 : KEDS VoDS o8& FOY wS grarge 6818 SHdo ad wESI 0.
Qgado — Il : (Pebégo ThodH SAvodne sy ©0803TH.

(1) Jabo - I'&mED
(2) QFabo - L ED
(3) agoﬁno - 1 D00 Il 57

(4)  Dabo - 10 I

Series-A




111. Directions”: In the question given below there is a statement followed by two courses of

actions numbered | and Il. A course of action is a step or administrative decision to be
taken for improvement, follow-up or further action in regard to the problem, policy, etc.
On the basis of the information given in the statement, you have to assume everything in
the statement to be true, and then decide which of the suggested course(s) of action

logically follow(s) for pursuing.
Statement : There are many motorcycle accidents in the city these days.

Course of Action | : The authorities should encourage the motorcycle riders to use
helmet. .

Course of Action Il : The motorcyclist should be discouraged to drive at high speed.

(1) If only Course of Action (I) is suggested.

(2) If only Course of Action (I1) is suggested

(3) If neither Course of Action (I) nor Course of Action (1) is suggested.

(4) If both Course of Action (1) and Course of Action (Il) are suggested.

drdtes 1 3OO RS 28 (LEGD (Statement) Ok Todk S0E%ed Sogen
(Courses of action) mdgagray. SWEHLID [Py (DEGISY VVgH DO o
GrPEr Fros PoomrD WO WD IR G0GD. PELRET VEYY)
L oomud Jercom FrA0wd. Al (DEOSD Do S0SHeId BPgud
DOIOOVS VAL DB SWEHI AFAFR) VT Wargrvom HoSos.

(BEGS @ & g Frerb PES (Darares JEp B adibéaan.

BWENHDYO S8g — | 1 Irerd PEC VAV DTE TEOLM Vowodd wHSHew
(FFEySroTD.

BWENDY S8g — I : Frer P8 VG VT w8 o VELHG JaboBowd.
(1)  SLEDUVO B - 1 o0 (ED IR,

(2)  SREDeD SYg - 1B wIIRA.

(3) =dHR2dS Toh SVE TOYS Bges WHEDOD.

(4) aogwE Sokh SWE'T OV Bges oIS,
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112. Directions : In making decisions about important issues, it is desirable to be able to
distinguish between ‘strong’ and ‘weak’ arguments so far as they are related to the issue.
‘Strong’ arguments must be both important and directly related to the issue. ‘Weak’
arguments may not be directly related to the question and may be of minor importance
or may be related to the trivial aspects of the issue. HOS
The Statement given below is followed by two arguments numbered (1) and (Il). You have
to decide which of the arguments is strong and which is weak.

Statement : Should we scrap capital punishment ?
Argument | : Yes. No one has the right to kill another human whatever be the reason.
Argument Il : No. The fear of death sentence will stop people from committing heinous

crime.
(1) If only argument (1) is strong. (2)  If only argument (ll) is strong.
(3) If neither (1) nor(ll) is strong. (4) If both (I) and (Il) are strong.

Srdder 1 Qfabres SHI wotd & Aared v Db ored® (arguments) S
DU, DD RUTTHIND Y 8OV soddo wHdIo. VUID Torw ([DEGHST
woRd I, Vowodo XOn WPSHIVNTI®  SOLPw. WerEIE T
(PELRS w08 I Dowodo TAD mEr Sor VU EIRgo EDARINTT
codro.

& (DHS® erron w¥ DEGD (statement), Bod vores (arguments) ADWGTO.
BV DEGID, oD D0FO0D a)d ardo we IS, wu bSO awoB0d.
PEES : e FEw Ewhowrer ?

T80 ~ 1 6P, 5800 IBHEE 2.8 DY (Frwo 8o Ly, Jg08 S,

T80 ~ Il : B, weabodd Pabo Fodod (&8 Dhes SabHoae udod.

(1) &80 - 18D oIS, (2) S0 - IS weBRS.

(3) 2V B0 Fore VUV S*Y). (4) a{'.)g}’a Godh TP BOIRD.

113. Directions : In the question given below there is a pair of events (I & ll). You have to read
both the event (1) and (Il); and then decide the nature of relationship (cause and effect)
that exists between them.

Event | : The demand for solar panels has increased many folds.

Event Il : The government has widely publicized the benefits of solar energy.
(1)  1f (1) is the effect and (1I) is its immediate and principal cause.

(2)  If (1) is the immediate and principal cause and (ll) is its effect.

(3) I (1) is an effect but (II) is not its immediate and principal cause.

(4) 1f (1) is an effect but (1) is not its immediate and principal cause.

Rrdde 1 68 808 auye Sod VopeRu® (events) L0FDOD &E Wiy Gl
s*eas 8% (cause and effect) :(Joa.aoqri)l SEawoDod.

RORED — 1: WrdgsTo8 o) Ahg8 SarBh IV Le s Nord I S wOAB.
DoReS ~11: ] E% oreoe LT GNAETY HOOD (@280 JVyé (Lardo Bod.

(1) Voodd -1 [D2rD0; @8 [DEFS SE00 VoeD ~ II.

(2)  DodD - Il (PgrHo; o8 (PE°R 5°8e0 VoS - 1.

(3)  WVop&d -1 ReroH0o; 570 o [Perd 52800 Voded — Il 53,
ab

(4) 2oL -1l (D27H0; 570 @8 (DFPH S*EE0 WoES - | 57,
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114. If the total number of dots on opposite faces of a dice is always 7, find the correct figure
given below ;

28 FOEH 63) o) WyroP D dHI,. J HBTE wpru ad) W o
S 750908, &1 05 B D FDES & Jomyen E0K0b ?

- ® . -

0 i ()

LI O

iy ke ol ) 4
1 (2) ()
3 . @ ()

115. Pointing to Venkat, Vasantha said, “He is son of my father’s son”. How is Venkat’s mother
is related to Vasantha ?

(1) Daughter (2) Sister-in-law

(3) Sister (4) Aunt

‘ol e a‘l‘\:l EH%HS BUE’ ol B0 I088D WPV ©0d. I08E L19} HoosD
D‘éa@é’saoa ?

(1) S (2) DB z,J"'dg

(3) %6 4) D

116. If RAMU is coded as WOCT, then the code for NEST will be g
a8 &g LS® RAMU. &3 D) WOCT e &80, NEST o8 Do, @ arid®

e Srrhehod ?
(1) PHVU (2) uUvGP
(3) VUPG (4) VUGP

117. A, B, C, D, E and F are standing in a circle. B is between D and C. A is between E and C. D
is to the immediate left of F. Who is standing in between Aand B ?

A, B, C, D, EXD0ah F 2.8 B)ers8od’ Jead &I, D, C o Wifg B &somyeh. E, C
g A Gamd. F O DHT LI D b A Be g It &I ?

(1) D {2l B
(3) F (4) C

118. fM=N;R=S; N>T; Q< N, then which of the following is true ?
M=N;R=S5;N>T; Q<N eoand &s Soda‘tﬁc‘}‘bﬁ‘&:égén?
(1) N<M (2) T<Mm
(3) N<Q (4) M<Q
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Directions : (Q.Nos. 119-123) Study the following radar diagram carefullg'and answer the
questions that follow :

Number of Students Enrolled in Three Different Disciplines in Five Different Colleges.

Srddw (B.vowpg 119-123) @ Sod aWyw 0760 dab(iom V03O0 & 8ol B
RHeH V0 vargrarow Howdos.

2% Svrares® hredd Jermrod® F6% dargthe Lowg

== B.A rl" B.5¢ ——f.Com

o c

119. The number of students studying B.Com in college C forms approximately what percent
of the total number of students studying B.Com in all colleges together ?
C Swrared’ B.Com Sy Argdhe wowg W Serared® B.Com SHHHD
o damgdhe Dowgd® Ward Jod o ?
(1) 27 _ @) 21 (3) 16 @) 17

120. What is the respective ratio of total number of students studying B.Sc. in colleges C and E
together to these studying B.A. in colleges A and B together ?

C Woah E Swared’ BSc. Wnsid) E)crsg:u ook A, B Ewrwred® BA.
%ds@é){ol&)mggao g GR) SIS wod ?
(1) 24:23 (2) 25:27 (3) 29:23 (@) 27:25

121. What is the respective ratio of total number of students studying B.S¢c, B.A and B.Com in
all the colleges together ?

o) Sv>ared’ EO2 B.Sc, B.A. 0k B.Com STaYS) arghe Dowg D JWNBS® God ?
(A)ee T1 6 7S (2) +B67:71:75 (3)... 21568575 (4) 71:75:68
122. The number of students studying B.A in college B forms what percent of total number of

students studying all the disciplines together in that college (Rounded off two digits after
decimal) ?

B ¥erared® BA. 303 derghe Dowg o3 ErTedtl 8o (o) Jrrrw EO)
;)wgg:oc‘}‘ Qod TE0 (GRS Sovgd Tolh Frares HEH) ?
(1) 2686 (2) 2727 (3) 29.84 (4) 28.94

123. What is the total number of students studying B.Sc. in all colleges together ?
o) e’ SO B.Sc. $68 o darghe Lowg Do ?

(1) 1825 (2} 1975 (3) 1650 (4) 1775
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124. Which Constitutional Amendment provided that at least 2/3™ members of a legislature party
should agree for a valid merger with another political party ?
(1) 91" Amendment, 2003 (2) 91" Amendment, 2004
(3) 91" Amendment, 2005 (4) 91" Amendment, 2006
b orergol Wl [Dsedo a8 orzdab 8 2088 F0S° VS0 sTareod EWo o

Foaler DEoS* 2/3 5 Sok 70 Lahges uFrdo 8uard ?
(1) 91% VH8es, 2003 (2) 91% Uddea, 2004
(3) 9135 5B, 2005 (4) 915 V580, 2006

125. Which of the following statements is true in respect of the Supreme Court and High Courts ?
(a) The High Courts have no original jurisdiction to protect fundamental rights.
| (b)  The Supreme Court is an umpire in resolving inter-state disputes in all cases.

(c) The jurisdiction of High Courts under Article 226 is wider than that of the Supreme
Court under Article 32.

(d) The jurisdiction of the Supreme Court under Article 32 is wider than that of High
Courts under Article 226.

(1) (a)and(b)only (2) (b)and(c)only (3) (c)only (4) (d)only
‘&n@o?g;, :.;_"g‘gmé) Yo0boD 808 8St 2 @ﬁodﬁ‘b@%& ?
| (8) WE GO FEDE ey o DOBROT O 1OB T,

) (b) ) Bsve wosory Drcre LOI 08 K0S 2.8 aredb W SO0,
| () ©885226 D5 8o &Y wds 8 1OY, vREL 32 (DS B0 WDOE'D VO Eom)
' T IRO.
| (d) ©8¥d 32 s 8o WDOEDH whs Y VOB, «f¥S 226 D580 WEGe LOY
57 DT UD0.
(1) (a) ?'mﬁo*i'n: (b) Sro&d (2) (b)Oad (c) (S
3) (o) &ED (4)  (d)ar8D

I 126. Article 105 of the Constitution deals with

(1) Powers, Privileges, etc of the Houses of Parliament, its members and members of
committees thereof

(2) Powers, Privileges, etc of Houses of Parliament only

(3) Powers, Privileges, etc of Parliament members only

(4) Powers, Privileges, etc of the State Legislatures and their Committees
o200 1055 w0 808 a8 B8 LowoRoRE ?

(1) rESod &afab Lafu Dahge oA LSS Vabge (LEgE whs ores DO
Ldgs tebraires.

(2) Do agfad Vefo DEgE whsTTrw, Vb abres.

(3) EDod Vabge @355 8 S ores DO VSAraires.

(4)  OrRr9uER AR Wefen DO a8 xhge G @Eigé wdsores Do “’\xﬁai‘!‘cﬁ:‘w

600 25 Series-A




127.

128.

129.

130.

131.

The President enjoys pardoning powers under '
(1) Article 72 of the Constitution (2) Article 73 of the Constitution

(3) Article 74 of the Constitution (4) Article 75 of the Constitution
ardeb c*"&uzj“bég ) o*arsoﬁ (L8820 [wsro EXrDE wdsTorew Vo(Sdowraw ?
(1) ogsd72 (2) ©0¥S73 (3) ©88I74 (4) ©QES7S
Smt. Selvi Vs State of Karnataka is a landmark decision relating to

(1) Narco-analysis tests (2)  Encounter killings

(3) Death penalty (4) Handcuffing of arrested persons

(B® 1Og Vs Somo¥ (Debdco oI [Dhve ANy 808 TS @ wowd8
Low0dowed ?

(1) o8 - Iz VOFe (2) RSTo0b Irégen

(3) I?E (4) o0 voud HeHed Dées Sabo.

Among the total members of Rajya Sabha, how many of them are nominated members ?
oragf S Svdo Vibge St Jodod FPSBE VEHIT Yobrd ?

(1) 10 Doc (3) 08 (4) 02

To ensure impartiality, the retired Judges of the Supreme Court are debarred from
practicing law

(1) in any Court other than State High Courts

(2) in any arbitration proceedings

(3) inany Court of India

(4) inany Court other than the Supreme Court

Srgab ‘és‘é‘.’gcﬂ‘ D BESD oo, WDHoEH Wwod V8D JHe Fodd
rgabiurhes & 800 EPodt (8 Sabad) JLgomd ?

(1) s wrEHS® S0y add 5‘@0:5‘

(2) BT DPgHYLe Dares LOAY TPt

(3) 2rEsB%05™ o a‘goﬁ.gvfoocﬁ‘ga'

(4) ‘&n@)ogsg.) &N 2 2SS §‘g3c.:e§"§a'

The Constituent Assembly of India was set-up

(1) through a resolution of the Provisional Government

(2) by the indian National Congress

(3) under the Indian Independence Act, 1947
(4) under the Cabinet Mission Plan, 1946

88 orargolf VWOLEWD & Dorr JEY0TS ?
(1) w8 ever) OF Debde ém&‘:’oo argoe
(2) 2r8S 2r8ab STOAS oo™

(3). 288 ndo|d Séo, 1947 8o

(4) 1946 >°& 5‘553355.‘9‘&15 E¥o [ws o
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132. Janani Suraksha Yojana of NRHM aims at

(1) HealthEducation (2) Child care

(3) Reducing maternal mortality (4) Vaccination of mothers

2 Sad [mrade @ 5°tig VUSSR 20 WY Brasd Swyg ¢3%o;

(1) g o5t Soy0isdo 2) % Lodgem

(3) Swo D Teed) SRowdo (4) Seved dscer Sawosdo

133. Following is an important contentious issue between Land Acquisition, Rehabilitation and
Resettlement Act, 2013 and Present Amendment Bill, 2015 :

(1) Financial Impact Assessment (2)  Cultural Impact Assessment
(3) Environmental Impact Assessment (4) Social Impact Assessment
2P DESw, Ydorad B0, 2013, D& VHSem Dew, 2015 o o [Devd dararodo -
(1) &sgg ng'a‘al ©8) oo. (2) évo‘bgn)aé @Ja,raa*bl 8 0uo0.
(3) ‘bmg‘édca @J?,J'avbl B8 oddo. (4) &2 [Perad) ©8) osdo.

! 134. Which is an incorrect objective of RUSA ?

(1) Correcting regional imbalances in access to higher education.
(2) Ensuring equity in higher education.
(3)  Ensuring availability of adequate Faculty.

(4) Encouraging establishment of private Universities.
G (6. 0.0, ).) e;gso 5°08 26 ?

(1) (Prodah wlbrdbdud Funod &) 8 ASgD woB08 wober e s Edio.
(2) &S AWSS® Vs FQowo.

(3) W3S S 20)08 efobTabdo.

(4) 9w g dargeab SV (S Irodo.

135. ‘Ujwala’, the scheme of Govt. of India is meant for helping the victims of

(1) Trafficking (2) AIDS _
(3) Bonded labour (4) Natural calamities
teage’ et g 8d (Debde Seg Ko JH0 ‘ba’:‘oﬁ:“go 3308808 ?
(1) 2edody) }bsi_}a‘d arOehen (2) o)O.]J&D (AIDS) 2r&hen
(3) 3 =80 wrddhe _ (4)  [0%)8 S0d8g erpden
| 600 27 Series-A
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136. One of the following is NOT the objective of Govt. of India programme ‘Beti Bachao, Beti
Padhao’ : '
(1) Prevention of gender based sex selective elimination
(2) Ensuring survival & protection of the girl child
(3) Ensuring education and participation of the girl child
(4) Ensuring employment to girl child
808 &S”° g 88 [Daddg Sy o BE wweS, TS VS o¥go 70
(1) ol ugrdd IDEEW Lewddoido
(2) 2rO¥u 8%m, DoKED SHrShbibo :
(3) wrd¥e arHdghgo, g% Sraddso !
(4) 2ordEud Gard é@aoééo

137. The only express limitation imposed on the power of retrospective legislation is |
(1) under Article 20(1) with regard to penal laws
(2) found in Article 245 with respect to extra-territoriality |
(3) found in Article 368 with reference to amendment power |
(4) found in the Basic structure theory [

B0 TR0 57 K08 Twoth Wod @ e ehes bR &) 28 2.8 whILE LODS
(1)  (BRS SereH Wowodod orergoiod’ (DESwo 20(1) argo

(2) orergoll [DESm 245 St &R) OEDY (TS 0ES

(3) orergol (LES 368 S° &w) orargol Whden (H|8ad

(4) orergol WO oy ?og“oéoc‘i‘m

138. The power to impose and assess a tax
(1) is not an essential legislative power.
(2) is an exercise of subordinate legislature.
(3) is an executive power.
(4) isan essential legislative function.

D) DBOYY), WBOY) wBs*Bo

(1) S8 TR vhstEo s°D.

(2) oS IR Dcr"&ea 8.

(3) s*dsbmst’.ré wds 5o.

(4) =R TP Vo0HOWR AV 8.

139. The Council of Ministers shall be collectively responsible

(1) tothe House of the People (2) tothe President of India
(3) tothe leader of the legislative party (4) tothe leader of the opposition
JDOE OB OO VYT e Eigd DA ?
(1) <*E98% (2) ogdas
(3)  ARORRE S adBH8 ()  (DBLY T abHD8
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140.

141.

142.

143.

The President’s power to grant pardon is to be exercised

(1) on the basis of judicial opinion (2) by the President on his own

(3) on the basis of Statute (4) on the advice of Council of Ministers
T8 @ vErdorr Ehrdg (D80 6fs o) AAAN0DHER ?

(1) a‘go‘b wd|Drabo esgdorr (2) &% e

(3) =Vdo werSomne (4) oBDOED VY

A legislature in exercise of its legislative power cannot

(1) extend to its own territory a law made by another legislature
(2) directly override a Judicial decision

(3) validate an ultra-vires legislation after becoming competent
(4) make retrospective legislation

TR &S T & 0858 &rKod” Jaboedd

(1) I&°8 705w IS By $S DTS H0od Jae

(2) E{Jégéom Srgab Aabre S8 Bosoedd.

(3) ogabdoRE® B T8 FDPgo SOAD Sumgd g EDN0BHLY.
(4) VrEgseerdS HhoLTah Fodo Baboech.

The Governor of a State

(1)  shall not be a member of either houses of Parliament or any state legislature
(2) should not be above 35 years of age

(3) should not be an Indian citizen

(4) should also hold any other office of profit

m‘é@ 5‘661553 20230800 808 >SSt DB oA ?

(1) avga:o&s‘ SU), D VIS 500 ‘:02;5)5633 s*0.

(2) 35%onsyoro Ea7) ¥ D DAYoE o .

(3) 2rdd L stod.

(4) 288 ordarabd DS O GoEHTD.

The Supreme Court has affirmed that it can order the restoration of the State Assembly
dissolved by Presidential order in the case of

(1) S.R. Bommai Vs. Union of India

(2) State of Rajasthan Vs. Union of India

(3) A.D.M. Jabalpur Vs. Shukla S.S.

(4) Radha Krishna Agarwal Vs. State of Bihar

DROEH @ argegod® ooRdd «gbd 8 Dabwdd ovRy  e0dD
DODHE00BHEA $)DE00 DS ?

(1) Db B Vs rSS Pedsgo  (2)  oraE oo Vs. grES (Dabigo

(3) 8.0, 2wdPrd Vs hgr 0. I, (4) orer¥yd Ko Vs, 56 ov&90
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144,

145.

146.

147.

148.

149.

150.

Which of the following district has the highest cropping intensity in 2012-13 ?

(1) Nizamabad (2) Khammam (3) Karimnagar (4) Nalgonda
& 808 oS ©Q¥ Vovu BHS Ko (2012-13) 2

(1) Qexéarard (2) o (3) ¥b0dKE (4) S0l
‘Enamamula’ in Telangana is famously known for

(1) Textiles (2) Grain market

(3) Silk (4) Pilgrimage centre

Boomrnd® ' Jbhrave 828 BR8.

(1) 59w (2) oRgo G E (3) v (4) eag (S0
The proposed ‘Pharma City’ by the Telangana Government will be located at

(1) Jeedimetla (2) Shamshabad (3) Muccherla (4) Shamirpet
Soomnd® [Dghde LAY ‘Podd ILET) (Frodo

(1) Zady (2) Hodrerd (3) g (4) EH

Which of the following district ranked last in Human Development Index (HDI) of
Telanganain 2011-12? :
(1) Medak (2) Mahaboobnagar (3) Nizamabad (4) Nalgonda

&1 308 &°0S° BLomad™ O 20 WD ©9H)S 0¥ (HDI) &° (2011-12) & D&O
Q".‘oo@‘ &0d ?
(1) D&E (2) DLrerSHEE (3) errdrerd (4) ‘éen‘z"od

Which among the following districts in Telangana State does not have inter-state
boundary ?

(1) Ranga Reddy (2) Hyderabad
(3) Nalgonda (4) Mahaboobnagar
808 VYW @ 2 Beormrs orgyod’ ©0850°890b WO TL ?
(1) Zomrd& 2) wrsorerd (3) wgrod (4) DdrareSoid
Telangana Water Grid aims at providing drinking water to
* (1) Towns and Villages (2) Greater Hyderabad only
(3) Rural areas only (4) Major urban areas only
S 800 °¢8 e HAD WodOBE0 BLormrn WO (NG VE¥o ¥, adHo
(1) ﬁ.)%m‘u, (rSres (2) L?'ftbg wSorerd ‘e'w‘LéEE
(3) (rade (@rosren Hr(ED (4)  Swayg D (osred @D
Indravati is a tributary of
(1) Mahanadi (2) Krishna (3) Godavari (4) Tungabhadra
20|08 8 6&:5& G0
(1) %% 2) & (3) &orbd (4) oS
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